1. Circle the correct choice.

1) The primary purpose of the passage is to .....ccveivicennenne,
a) inform people about travelling abroad b) teach how to become a cartoonist

¢) show Herge’s style and how Hergé created Tintin  d) show how Tintin got popular outside Europe

2) The passage mentions each of the following except ...
a) Hergé’s passion about teaching about different places b) Herge 5 ability to use technical details

¢) Hergé's first trip abroad d) what Hergé is good at

3) It can be inferred from the passage that .......cccccecveeneae.
a) writers can foresee the future b) Tintin was the secmnd cartoon character to be popular outside Europe

c) Hergé's goal was to avoid politics d) Simple lines always make the communication easy for the cartoonist

2. What do the years below refer to in the text?
a) 1929 (paragraph 2) ..ceene.

b) 1953 (paragraph 4) ..ceeeeece.
c) 1969 (paragraph 4) ...cecevveennnen.

3. Find examples of the following characteristics of Hergé as
an artist in the text and underline them.

a) His drawing skills

b) Eye for technical details

c) His futuristic side



